

$$4. \lim_{x \rightarrow -\infty} \left(\frac{7}{x} - \frac{x}{4} \right)$$

$$= \lim_{x \rightarrow -\infty} \left(\frac{7 \cdot 4}{4x} - \frac{x \cdot x}{4x} \right)$$

$$= \lim_{x \rightarrow -\infty} \left(\frac{28}{4x} - \frac{x^2}{4x} \right)$$

$$= \lim_{x \rightarrow -\infty} \left(\frac{28 - x^2}{4x} \right)$$

$$= \lim_{x \rightarrow -\infty} \left(\frac{\frac{28}{x} - \frac{x^2}{x}}{\frac{4x}{x}} \right)$$

$$= \lim_{x \rightarrow -\infty} \left(\frac{\frac{28}{x} - x}{4} \right)$$

$$= \frac{\frac{28}{-\infty} - (-\infty)}{4}$$

$$= \frac{\infty}{4}$$

$$= \infty$$

NOTE: $\frac{1}{\infty}$

$$\frac{1}{1} \quad \frac{1}{2} \quad \frac{1}{10} \quad \frac{1}{100} \quad \frac{1}{1000000}$$

$$= 1 \quad = \frac{1}{2} \quad = \frac{1}{10} \quad = \frac{1}{100} \rightarrow \text{ZERO}$$

$$5. \lim_{x \rightarrow \infty} \left(\frac{x^2 + 5}{3x^2 - 7} \right)$$

$$= \lim_{x \rightarrow \infty} \left(\frac{\frac{x^2}{x^2} + \frac{5}{x^2}}{\frac{3x^2}{x^2} - \frac{7}{x^2}} \right)$$

$$= \lim_{x \rightarrow \infty} \frac{1 + \frac{5}{x^2}}{3 - \frac{7}{x^2}}$$

$$= \frac{1 + \frac{5}{\infty^2}}{3 - \frac{7}{\infty^2}}$$

$$= \frac{1 + 0}{3 - 0}$$

$$= \frac{1}{3}$$